~ ©) o
-’
b1 T~ h—H
L - r \,_ L _;
[ ' '
A : ] ! :
] 'y : :
' : ' ,
! ]
; (IR
d : . : :
.
' o (EE
d : ! : !
|\ : : | : '
\ o . ) ' !
\ -
3 ' ' ]
~ ' ' ' :
' ' '
' ! y !
- I -~ :_
|
)
PRODUCT NAME SIZE
¢ D c E w H ' W VP EL 40 150
VP10110-0040 40 480 27 06 w3/8 25 M6x 25 79.4 15 28 PARTS NO. COLOR SURFACE TREATHENT
VP10110-0050 50 60.0 27 06 wa/8 25 M6x 25 85.4 17 28 VP10110-
VP10110-0065 65 76.0 27 10 w3/8 25 M8x 25 954 20 28 A MATERIAL A B MATERIAL B C  MATERIAL C
VP10110-0075 75 89.0 27 1.0 w3/s 25 M8x 25 | 1018 20 28 TPE SUS430
VP10110-0100 100 1140 27 10 w3/8 25 M8x 25 1144 20 28 APPROVAL CHECK IN CHARGE DRAWN
M. 21.02.
VP10110-0125 125 1400 45 15 w1/2 32 M10x 35 | 1533 25 35 Suga 02.08
VP10110-0150 150 165.0 45 15 w1/2 32 M10x 35 | 1661 25 35

MNVJ AW ket




